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{
int i,k;
elementType X;
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{
x=Ak]; — €2+(N-1)
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Ali+1=Al; — €5% (k—1) 1 - spielzl b (N — 1) ails> s

— C6*(k—1)

Ali+1]=x; — C7+ (N —1)
}
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int fact (int n)
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Hanoi (n, A, B, C)
{
if (n==1)  move (A—C);

else {
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Hanoi2 (n,A,B,C)
{
if (n==1)
{ move (A—C)
move (C—B) }
else
{ Hanoi2 (n-1,A,B,C)
move (A—C)
Hanoi2 (n-1,B,A,C)
move (C—B)

Hanoi2 (n-1,A,B,C) }

il ) O ygoa Viseild 7y aluwe (S5 5L sakul

2 n=1
T(n):{3T(n—1)+2 n>1

1: T(n)=3Tn—-1)+2
2: Tm)=3[3T(m—-2)+2]+2=3*T(n—2)+ (3 x2)+2

3: Tm)=3%[3T(n—-3)+2]+(B*%x2)+2=3Tn—-3)+(3?2%x2)+ (B x2)+(3°%x2)

k: T(n)=3kT(n—k)+@*1x2)+-+3'%x2)+(3B°x2)

T(n) = 3"T(n —k)+ 2[3k_1 4+ 3k2 .4 31 4 30]

T(1)=2 -» n—-k=1-> k=n-1
T(n) =3"""T(1) +2[3" 2+ +3'+3°] =2 x [3"" + 3772 + .- 4+ 3 + 37]

n

n-1
T(n)=2><23i=2>< =3"-1 IT(n)=3"-1 > 03"
i=0
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Ehanoi (n,A,B,C)
{
if (n==2)
{ move (A—C)
move (B—C) }
else
{ Ehanoi (n-1,A,B,C)
move (B—A)
hanoi (2n-2,C,B,A)
hanoi (2n,A,B,C) }
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T(")—{T(n—1)+22”‘2—1+22"—1+1

n

T(n)=T(n—1)+4Z+4"
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Sm)y=Sn—-1D+y = |S(n)=S(n—1)+n|

1: Sm)=Snh—1)+n
2: Sm)=[Sh—-2)+(n—1D]+n

3: SM=[[Sh-3)+n-2)]+n-1]+n

k: SmM)=Sh-k+Mn-k+D+-+Mm-2)+(n—1)+n
S1)=2 = n—-k=1 = k=n-1
S(n)=S(n—(n—1))+(n—(n—1)+1)+---+(n—2)+(n—1)+n

S(n)=5;££)+2+3+---+(n—2)+(n—1)+n

S(n) = 2 +2+3++Mm—-2)+(n—-1)+n
1+1

SM)=1+1+24+3+-+n-2)+(n—-1)+n
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T(n)=aT(%)+f(n) a=>1,b>1

wls €3> 0 ol a o] f(n) = 0(nl°8r4=¢) 51 (Casel) Jol <il>

T(n) = H(nlogb a)

wn s o1 f(n) = 8(n!o8r2) 51 (Case) pgs >

T(n) = H(nlogba x log, n)

s € > 0 gl 4 olsT f(n) = Q(n'o8r 7€) 51 (Case3) pguw <>

T(n) =0(f(n))

WS o Lol ganad jlesliiwl by py SiS L skl JLe
n
1) T(n) = T(E) +n
a=1,b=2,f(n)=n
logy,a=1log,1=0

f(n) — Q(nlogz 1+£=1) = nl=not — T(TL) — Q(TL) o il
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for (i=0; i<n; i++)
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int CombinationDC (int n,int m)
{
if (n==m || m==0)
return 1;

return CombinationDC (n-1,m-1) + CombinationDC (n-1,m);
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int CDP1 (int n, int m)
{
int i, j, c[n+1][m+1];
for (i=0; i<=n; i++)
Cll0I=1;  — a5 ooV sl o5
for (j=1; j<=m; j++)
CII=L = st e i
for (i=2; i<=n; i++)
for (j=1; j<=min(i-1,m); j++)
clilij=cli-1]0]+cli-1]0-11;
return c[n][m];

}
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m(m-1) (n-m)
2

m(m-1) _ m@n-m-1)
— m(n— m)—i2




Lo oy aabiyp —p,loz Juab

(o SQ Lgs) Ligs 9o b9 31 ooliiwl b S i oty 551 F-Y-Y-Y
int CDP2 (int n, int m)
{
int i, j, a[m+1];
a[0]=1;
for (i=1; i<=n; i++)
{ if(i<=m) a[i]=1;
for (j=min(i-1,m) ; j>=1; j--)
afjl=afjl+afj-11; }
return a[mj;
}
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int CDP3 (int n, int m)
{
int 1, j, a[m+1];
a[0]=1;
for (i=1; i<=n; i++)
{ if(i<=m) a[i]=1;
for (j=min(i-1,m); j>=Max(1,m-n+i); j--)
afjl=afil+alj-11; }
return a[mj;

}
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